

Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Realized Gain/Loss

Jan 1, 2022 - Dec 31, 2022

SHORT TERM (These transactions should be reported on Form 8949 Part I with box C checked.)

Close Date /			Unit Proceeds /				Disposal
Open Date	Asset	Quantity	Unit Cost	Net Cost	Net Proceeds	Gain/Loss	Method
2022-11-29	DOGE	40000.00000000	\$0.107000		\$4,280.00		FIFO
2022-11-08		10692.55793879	\$0.089211	\$953.89	\$1,144.10	\$190.21	
2022-11-08		10983.65917091	\$0.091044	\$1,000.00	\$1,175.25	\$175.25	
2022-11-08		10529.23404982	\$0.094974	\$1,000.00	\$1,126.63	\$126.63	
2022-11-08		7794.54884048	\$0.093949	\$732.29	\$834.02	\$101.73	
2022-11-29	DOGE	40000.00000000	\$0.107574		\$4,302.97		FIFO
2022-11-08		2849.46849266	\$0.093951	\$267.71	\$306.53	\$38.82	
2022-11-07		4394.04224116	\$0.113790	\$500.00	\$472.68	-\$27.32	
2022-11-06		4321.63435222	\$0.115697	\$500.00	\$464.90	-\$35.10	
2022-11-06		4342.82541790	\$0.115132	\$500.00	\$467.17	-\$32.83	
2022-11-06		8695.65217391	\$0.115000	\$1,000.00	\$935.43	-\$64.57	
2022-11-06		8622.19110569	\$0.115980	\$1,000.00	\$927.53	-\$72.47	
2022-11-03		6774.18621646	\$0.118621	\$803.56	\$728.73	-\$74.83	
2022-11-27	DOGE	5000.00000000	\$0.102502		\$512.51		FIFO
2022-11-03		5000.00000000	\$0.118622	\$593.11	\$512.51	-\$80.60	
2022-11-11	DOGE	873.00000000	\$0.082589		\$72.10		FIFO
2022-11-03		871.11781079	\$0.118618	\$103.33	\$71.94	-\$31.39	
2022-05-11		1.88218921	\$0.085007	\$0.16	\$0.16	\$0.00	
2022-10-30	DOGE	2125.00000000	\$0.131529		\$279.50		FIFO
2022-05-11		2125.00000000	\$0.085675	\$182.06	\$279.50	\$97.44	
2022-10-29	DOGE	30000.00000000	\$0.144805		\$4,344.15		FIFO
2022-05-11		3709.09532827	\$0.085676	\$317.78	\$537.09	\$219.31	
2022-05-11		5735.13407367	\$0.087182	\$500.00	\$830.48	\$330.48	
2022-05-11		5533.19897251	\$0.090364	\$500.00	\$801.24	\$301.24	
2022-05-11		10789.01466842	\$0.092687	\$1,000.00	\$1,562.30	\$562.30	
2022-05-09		4233.55695713	\$0.113181	\$479.16	\$613.04	\$133.88	
2022-10-29	DOGE	20159.06000000	\$0.135908		\$2,739.78		FIFO
2022-05-09		4601.78426640	\$0.113182	\$520.84	\$625.42	\$104.58	
2022-05-09		8727.50376810	\$0.114580	\$1,000.00	\$1,186.14	\$186.14	
2022-05-07		3954.62182189	\$0.126434	\$500.00	\$537.46	\$37.46	
2022-05-06		2875.15014361	\$0.126595	\$363.98	\$390.76	\$26.78	
2022-10-29	DOGE	29840.94000000	\$0.135802		\$4,052.46		FIFO
2022-05-06		1074.42297073	\$0.126598	\$136.02	\$145.91	\$9.89	
2022-05-05		3892.12129562	\$0.128465	\$500.00	\$528.55	\$28.55	
2022-05-05		3906.25000000	\$0.128000	\$500.00	\$530.48	\$30.48	

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 1 of 7



Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Realized Gain/Loss

Jan 1, 2022 - Dec 31, 2022

SHORT TERM (These transactions should be reported on Form 8949 Part I with box C checked.)

Close Date /			Unit Proceeds /				Disposa
Open Date	Asset	Quantity	Unit Cost	Net Cost	Net Proceeds	Gain/Loss	Method
2022-05-05		3908.89675064	\$0.127913	\$500.00	\$530.84	\$30.84	
2022-05-05		7770.81866429	\$0.128687	\$1,000.00	\$1,055.30	\$55.30	
2022-04-29		7386.95702726	\$0.135374	\$1,000.00	\$1,003.16	\$3.16	
2022-04-29		1901.47329146	\$0.134980	\$256.66	\$258.22	\$1.56	
2022-10-29	DOGE	50000.00000000	\$0.132820		\$6,641.00		FIFC
2022-04-29		4138.46749968	\$0.134980	\$558.61	\$549.67	-\$8.94	
2022-04-29		1368.70223549	\$0.134967	\$184.73	\$181.79	-\$2.94	
2022-04-26		10991.85759829	\$0.136465	\$1,500.00	\$1,459.94	-\$40.06	
2022-04-21		7265.52198852	\$0.137636	\$1,000.00	\$965.00	-\$35.00	
2022-04-11		3501.69776314	\$0.142788	\$500.00	\$465.10	-\$34.90	
2022-04-11		7028.75385887	\$0.142273	\$1,000.00	\$933.56	-\$66.44	
2022-04-11		10542.31495461	\$0.142284	\$1,500.00	\$1,400.23	-\$99.77	
2022-02-10		3224.33553055	\$0.155071	\$500.00	\$428.26	-\$71.74	
2022-01-21		1706.61056969	\$0.146489	\$250.00	\$226.67	-\$23.33	
2022-01-21		231.73800116	\$0.149004	\$34.53	\$30.78	-\$3.75	
2022-04-26	DOGE	5000.00000000	\$0.159820		\$799.10		FIFC
2022-01-21		1446.17695996	\$0.148993	\$215.47	\$231.13	\$15.66	
2022-01-21		1667.82914358	\$0.149895	\$250.00	\$266.55	\$16.55	
2022-01-21		1669.10233206	\$0.149781	\$250.00	\$266.76	\$16.76	
2022-01-19		216.89156440	\$0.160956	\$34.91	\$34.66	-\$0.25	
2022-04-26	DOGE	40000.00000000	\$0.159812		\$6,392.48		FIFO
2022-01-19		1336.14703327	\$0.160978	\$215.09	\$213.53	-\$1.56	
2022-01-05		1539.27484393	\$0.162414	\$250.00	\$246.00	-\$4.00	
2022-01-05		1850.23677788	\$0.162141	\$300.00	\$295.69	-\$4.31	
2021-12-29		581.74246645	\$0.171897	\$100.00	\$92.97	-\$7.03	
2021-12-29		865.08213609	\$0.173394	\$150.00	\$138.25	-\$11.75	
2021-12-28		843.37336527	\$0.177857	\$150.00	\$134.78	-\$15.22	
2021-12-28		1396.25724867	\$0.179050	\$250.00	\$223.14	-\$26.86	
2021-12-28		1400.28291316	\$0.178535	\$250.00	\$223.78	-\$26.22	
2021-12-28		1408.49077678	\$0.177495	\$250.00	\$225.09	-\$24.91	
2021-12-28		1106.27815063	\$0.180786	\$200.00	\$176.80	-\$23.20	
2021-12-20		1522.62056886	\$0.164191	\$250.00	\$243.33	-\$6.67	
2021-12-17		1511.59349889	\$0.165388	\$250.00	\$241.57	-\$8.43	
2021-12-17		1487.50492885	\$0.168067	\$250.00	\$237.72	-\$12.28	
2021-12-17		1484.66028211	\$0.168389	\$250.00	\$237.27	-\$12.73	

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 2 of 7



Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Realized Gain/Loss

Jan 1, 2022 - Dec 31, 2022

SHORT TERM (These transactions should be reported on Form 8949 Part I with box C checked.)

lose Date /			Unit Proceeds /				Disposa
Open Date	Asset	Quantity	Unit Cost	Net Cost	Net Proceeds	Gain/Loss	Metho
2021-12-17		1475.86201115	\$0.169393	\$250.00	\$235.86	-\$14.14	
2021-12-17		1453.24427775	\$0.172029	\$250.00	\$232.25	- \$17.75	
2021-12-15		1150.69449015	\$0.173808	\$200.00	\$183.89	-\$16.11	
2021-12-15		1436.80745521	\$0.173997	\$250.00	\$229.62	-\$20.38	
2021-12-15		578.03772263	\$0.172999	\$100.00	\$92.38	-\$7.62	
2021-12-15		571.94358211	\$0.174842	\$100.00	\$91.40	-\$8.60	
2021-12-15		1414.24048526	\$0.176773	\$250.00	\$226.01	-\$23.99	
2021-12-14		1356.24092980	\$0.184333	\$250.00	\$216.74	-\$33.26	
2021-12-10		500.00000000	\$0.166700	\$83.35	\$79.91	-\$3.44	
2021-12-03		489.74018793	\$0.204190	\$100.00	\$78.27	-\$21.73	
2021-12-03		958.79133997	\$0.208596	\$200.00	\$153.23	-\$46.77	
2021-12-01		80.06086922	\$0.209091	\$16.74	\$12.79	-\$3.95	
2021-12-01		398.21007795	\$0.209086	\$83.26	\$63.64	-\$19.62	
2021-11-26		742.31441063	\$0.202071	\$150.00	\$118.63	-\$31.37	
2021-11-22		314.05905523	\$0.222697	\$69.94	\$50.19	-\$19.75	
2021-11-22		100.00136059	\$0.222697	\$22.27	\$15.98	-\$6.29	
2021-11-22		35.00047621	\$0.222568	\$7.79	\$5.59	-\$2.20	
2021-11-22		447.63971664	\$0.223394	\$100.00	\$71.54	-\$28.46	
2021-11-18		431.74880371	\$0.231616	\$100.00	\$69.00	-\$31.00	
2021-11-16		426.35659741	\$0.234545	\$100.00	\$68.14	-\$31.86	
2021-11-16		399.30281644	\$0.236162	\$94.30	\$63.81	-\$30.49	
2021-11-16		24.13446051	\$0.236177	\$5.70	\$3.86	-\$1.84	
2021-11-16		411.47132683	\$0.243030	\$100.00	\$65.76	-\$34.24	
2021-11-15		998.78934746	\$0.250303	\$250.00	\$159.62	-\$90.38	
2021-11-12		591.65396353	\$0.253527	\$150.00	\$94.55	-\$55.45	
2021-11-10		403.10710116	\$0.248073	\$100.00	\$64.42	-\$35.58	
2021-11-10		398.71621354	\$0.250805	\$100.00	\$63.72	-\$36.28	
2021-11-10		398.91977312	\$0.250677	\$100.00	\$63.75	-\$36.25	
2021-11-10		386.37448822	\$0.258816	\$100.00	\$61.75	-\$38.25	
2021-11-05		384.46601957	\$0.260101	\$100.00	\$61.44	-\$38.56	
2021-11-04		379.01991363	\$0.263838	\$100.00	\$60.57	-\$39.43	
2021-11-03		444.77723666	\$0.269798	\$120.00	\$71.08	-\$48.92	
2021-11-01		500.0000000	\$0.271320	\$135.66	\$79.91	- \$55.75	
2021-10-30		750.00000000	\$0.272520	\$204.39	\$119.86	-\$84.53	
2021-10-27		228.00885290	\$0.239596	\$54.63	\$36.44	-\$18.19	

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 3 of 7



Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Realized Gain/Loss

Jan 1, 2022 - Dec 31, 2022

SHORT TERM (These transactions should be reported on Form 8949 Part I with box C checked.)

Close Date /			Unit Proceeds /				Disposal
Open Date	Asset	Quantity	Unit Cost	Net Cost	Net Proceeds	Gain/Loss	Method
2021-10-27		606.71964604	\$0.239600	\$145.37	\$96.96	-\$48.41	
2022-01-17	ADA	46.62424381	\$1.503295		\$70.09		FIFO
2022-01-05		46.62424381	\$1.269511	\$59.19	\$70.09	\$10.90	
2022-01-17	ADA	700.0000000	\$1.494657		\$1,046.26		FIFO
2022-01-05		150.29351127	\$1.269582	\$190.81	\$224.64	\$33.83	
2021-12-28		177.09099340	\$1.411704	\$250.00	\$264.69	\$14.69	
2021-12-28		168.78084820	\$1.481211	\$250.00	\$252.27	\$2.27	
2021-12-28		169.28849515	\$1.476769	\$250.00	\$253.03	\$3.03	
2021-12-01		34.54615198	\$1.559942	\$53.89	\$51.63	-\$2.26	
2022-01-17	ADA	800.0000000	\$1.483075		\$1,186.46		FIFO
2021-12-01		29.56056303	\$1.559849	\$46.11	\$43.84	-\$2.27	
2021-11-26		130.39659171	\$1.533782	\$200.00	\$193.39	-\$6.61	
2021-11-23		115.84520120	\$1.726442	\$200.00	\$171.81	-\$28.19	
2021-11-22		56.15428250	\$1.780808	\$100.00	\$83.28	-\$16.72	
2021-11-18		108.19841811	\$1.848456	\$200.00	\$160.47	-\$39.53	
2021-11-16		81.34665813	\$1.843960	\$150.00	\$120.64	-\$29.36	
2021-11-16		104.62161211	\$1.911651	\$200.00	\$155.16	-\$44.84	
2021-11-15		124.25012564	\$2.012070	\$250.00	\$184.27	- \$65.73	
2021-11-12		49.62654757	\$2.015051	\$100.00	\$73.60	-\$26.40	
2022-01-05	LINK	53.54493529	\$25.032059		\$1,340.34		FIFO
2021-12-29		5.08540081	\$19.664133	\$100.00	\$127.30	\$27.30	
2021-12-28		11.37251298	\$21.982828	\$250.00	\$284.67	\$34.67	
2021-12-28		11.21883571	\$22.283952	\$250.00	\$280.83	\$30.83	
2021-11-26		4.17193426	\$23.969697	\$100.00	\$104.43	\$4.43	
2021-11-26		4.20203735	\$23.797980	\$100.00	\$105.19	\$5.19	
2021-11-18		8.84048906	\$28.278978	\$250.00	\$221.30	-\$28.70	
2021-11-18		8.65372512	\$28.889293	\$250.00	\$216.62	- \$33.38	
Total Short Term				\$37,447.29	\$38,059.20	\$611.91	

 LONG TERM (These transactions should be reported on Form 8949 Part II with box F checked.)

 Close Date / Open Date
 Unit Proceeds / Open Date
 Net Cost
 Net Proceeds
 Gain/Loss
 Method

No Long Term Realized Gains or Losses for the Indicated Period

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 4 of 7



Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Realized Gain/Loss

Jan 1, 2022 - Dec 31, 2022

LONG TERM	(These transactions should be reported on Form 8949 Part II with box F checked.)
-----------	--

Close Date / Open Date	Asset	Quantity	Unit Proceeds / Unit Cost	Net Cost	Net Proceeds	Gain/Loss	Disposal Method
Total Long Term				\$0.00	\$0.00	\$0.00	
Total Realized Gain/Lo	oss			\$37,447.29	\$38,059.20	\$611.91	

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 5 of 7



Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Income

Jan 1, 2022 - Dec 31, 2022

CRYPTOCURRENCY (These transactions should be reported on Form 1040 Schedule 1 line 8.)

Date Time Asset Activity Type Quantity Unit Price Comm/Fee Net

No Income for the Indicated Period

Total \$0.00

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 6 of 7



Account 5MS38246 For the Period Jan 1, 2022 - Dec 31, 2022

Understanding This Statement

Realized Gain/Loss

This section shows cryptocurrency realized gains and losses for the indicated statement period. Short term and long term gains and losses are listed in separate sub-sections. Within each subsection, disposals are listed in chronological order (most recent first), followed by the one or more tax lots closed by each disposal. This section may be used as an attachment to your tax return.

- Close Date Date of disposal.
- Open Date Date of original acquisition of tax lot closed.
- Asset Cryptocurrency disposed.
- Quantity Amount of disposal or amount of each closed tax lot.
 For disposals that close a single tax lot, tax lot quantity equals the disposal quantity; for disposals that close multiple tax lots, the sum of tax lot quantities equals the disposal quantity.
- Unit Proceeds Proceeds per unit of asset, calculated as Net Proceeds divided by Quantity.
- Unit Cost Cost per unit of closed tax lot.
- Net Cost Total cost of closed tax lot, inclusive of commissions and fees.
- Net Proceeds Total proceeds of disposal or amount of proceeds allocated to an individual closed tax lot, inclusive of commissions and fees.
- Gain/Loss Gain or loss resulting from disposal, calculated as Net Proceeds less Net Cost.
- Disposal Method Disposal method, also known as lot relief method, used to select tax lots to close (FIFO indicates first in first out, LIFO indicates last in first out, HighCost indicates highest cost first, LowCost indicates lowest cost first, SpecLot indicates specific lots were chosen for this disposal).

Income

This section shows cryptocurrency income from hard forks, airdrops, staking income and other events for the indicated statement period. This section may be used as an attachment to your tax return.

- Date Date of income.
- Time Time of income.
- Asset Cryptocurrency received as income.
- Activity Type Type of income.
- Quantity Amount of asset received as income.
- Unit Price Fair market value per unit of asset received as income, expressed in US dollars.
- Comm/Fee Commission and/or fee amount related to processing income, expressed in US dollars.
- Net Total value of asset received as income, expressed in US dollars.

For purposes of providing you with cost basis information and calculating gain or loss, unless otherwise noted, it was assumed that the oldest position was sold first. It is unclear if the wash sale rules apply to cryptocurrency trades — holding periods and cost basis values in this statement are not adjusted for wash sales. This statement is being provided as a courtesy and is not reported to the IRS. You are ultimately responsible for the reporting and accuracy of your cryptocurrency transactions on your income tax return, please consult your tax advisor.

APEXCRYPTO-CAS0001-9440 7 of 7